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2019 (S) ey
SSC PART-II (10th CLASS)

CHEMISTRY (NEW SCHEME) () gt
TIME ALLOWED: 1.45 Hours SUBJECTIVE _Eile 145 =
MAXIMUM MARKS: 48 | 48 = AF

NOTE: Write same question number -§_c~,;;u:;..4.gry.6?§ Z’o,»/-,i.-z»l/-,‘dlmﬁ:{dwlﬁ -
and its part number on answer book, as given in the guestion paper.

SECTION-l sL.o

2. Attempt any five parts. 10=2x5 -cﬁf/f....«l.i.?il?!aa..df 240y
(i)  Define Closed System. - J/"JK’ & i)
(i) Differentiate between Ko and Qg . -qu OAR Qe 1 Kg (i)
(i) Compare at least two macroscopic properties of _g;f;ﬂrlsi;yﬁ.{ ﬁ/g‘.uﬂf:_r&fg Is3aaals ush Jugs (1)
reverse and forward reaction.
(iv) State Law of Mass Action, _EuANST ()
(v) Why Arrhenius concept can't explain the nature of (/. wLb;J/,f(,( NHg 2 CO, ,/‘5"5"_/’-“/7 (v)
CO, and NH,?
(vi) Compare any two characteristics properties of acids and bases. vw‘é;ﬂrbﬁ;yﬂ%)d/ 75l Jk (i)
(vii) Write down two uses of Sulphuric Acid. _‘g@m,;‘iwbﬁ% (vii)
(viii) Name the acids present in: _g“/}-cémugr‘,;:t_iusau (viii)
Vinegar ./~ (b) Sour milk 2 s (a)
3. Attempt any five parts. 10=2x5 -gf//_,tlfafrém.df 2340
()  What are Aromatic.Compounds? Why are they called Aromatic? "c.l:wur ..l,-sxlfuf ‘g_,r:bm ,uw 31 (i)
(i) How organic compounds aresused as medicines? ¥ g r_l(K{Al’d.wL»fC{»}b{ (i)
(i) What is Isomerism? Give an example. W *‘c_uo/w (i)
(iv) What are addition reaction? Give an example. -gms e T L:’/u’f ISPt (V)
(v) Write down the formula of Oxalic acid. qeq.inGKPiJ Vi (v)
(vi) Give the general formual of Amino Acids. U2 r;bd/s?y’ﬁr!. (vi)
(vi) What are Carbohydrates? Give an example. e W Va8 (vii)
(vili) Write two points about importance of Vitamins. 25 el et St (Vi)
4. Attempt any five parts. 10=2x5 _Efeyzlizibre dS a4t
(i)  How Ozone Layer forms in Stratosphere? “.:.(5' d:../d/umiu‘ /r:“’r ~ (i)
(i)  Write the names of a Primary and a Secondary Pollutants. -u:"?'t.l.i u’r" JJ;dm?b_L_’u;rd /L‘;_{ (i)
(i) Write the percentage by volume of Nitrogen and Oxygen in dry air. -uf’ffi;lﬁé‘;;;ﬁf TaigPs o B (i)
(iv) Give two reasons of waterborne diseases. _uf‘q:.yﬁmJu:_Uk;dlsL;fugc,gstl; {iv)
(v)  Write two disadvantages of Detergents. _L,:“JHLL«EJ»L u’%j":j (V)
(vi) Write the formulae of Matte and Slaked Lime. Rl L g nd e ()
(vii) What is meant by Concentration of Ore? e o A (il
(viii) Write two advantages of Solvay's process. _u;’ﬂ:_,fﬁuiu’/f{:_w (viii)
SECTION-II 9.2
NOTE: Attempt any two questions.  18=9x2 -g:’,/fagfxziawmw_éf LS
5.(A) Describe a reversible reaciton with the 5 A =1 f{jJL,%g;c_.;_&JdL"‘ml._il)ﬁ (.5
help of an example and graph.
(B) Give four differences between Acids and Bases. 4 é,f/fu}zbuw:iful)ﬁl ()

5 _yfesrlscd sl S (Alkanes) PR -1 :djairi/ (Alkanes) s ()6
) What type of reactions are given by Alkanes? Explain with reference to halogenation of Alkanes.
(B) Write down four sources and uses of Proteins. 4 Juuaww /anf_ ;4':)/ (..,)
) Explain the process of bassemerization with reference to Copper. 5 -gi,.f_wusJu‘/u?Jﬂfa_J_ffL{K (IN_7
(B} How temporary hardness of water can be removed? Explain. 4 AT ‘.‘g;,CC‘ugl;-G»d:Lff;Jw{/;;JJl; ()
22-2019(S)- /&/‘70 (MULTAN)
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PAPER CODE 2019 (S) pay

NUMBER: 3 481 SSC PART-li (10th CLASS)

CHEMISTRY (NEW SCHEME) (i.ff %) U”/{
TIME ALLOWED: 15 Minutes OBJECTIVE gﬁ/’y o215 = &y
MAXIMUM MARKS: 12 2= Af

Aol /Jh/f’)pﬁh"u)w&wl}’ S s e Qul Z.f_,:c:.wf. l"'/’/éb/dl!) u‘d.c..: D4 C:B:A ;..,Llf.fh’:lpﬁdlr/ s
VEYE LV f(.,wt:f/dfu"uzr"u;_/:/ iu;m ..b{'nr"ﬁf: iR w’:ad"...«)!‘”d/z_;/ Jok ! d../’/,fu;/lmtzc;...f 2
Note: you have four choices for each objective type question as A, B, C and D. The choice ..J/ J’ff.:.unr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filiing two or more bubbies will result in zero mark in that question. No credit will be
awarded in case BUBBLES are rot filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) When the value of K¢ is very large it indicates that : -.:..u/fw,imbwhu Ke 2 (1)
(A) Reaction has not gone to completion & ru” oy J’f !u" !d
(B) Reaction mixture has negligible products u*u’r‘u‘“ »/H:.x /{ “iQJ
(C) Reaction mixture consists of almost all pfoducts »/v /J/’“ VY
(D) Reaction mixture has almost all reactants \f\’f dxrub )7 /’f Uiy
(2) Areverse reaction is one that: . .:;.uuj* ($asgs (2)

(A) Which speeds up gradually < by 2 L,.w.? (B) Which slows oo gradually < tri< TG
(C) In which reactants react to form products (/i &b f’/»/J:/J 'dxp d;u*u

(D) Which proceeds from left to right at’ﬁufﬁubgf I::.u"

(3) Acetic acid is used for: -t (Acetic ALid) bk (3)
(A) Cleaning metals AZJWJ/’" (B) Flavoring food &L & e Uuéﬁ:_ru/uﬁ
(C) Making explosive material {;'_.-i.a'_lz'}f}ébﬂ% (D) Etching'designs cj_ﬁ é.—tﬁ)@!(j})

(4) Which one of the conjugate acid of HPO3Z™? “Lt/ufiél:,ff ¥ ¥ HPO;~ (4)
(A) H,PO, (B) HyPOZ~ (C) HyPO;" (D) PO;"

(5) The main component of natural gas is: c-;f“ouf ift g (5)
(A) Propane ¢ffs (B) Propyne 'oF.L.’f. (C) Methane & ra (D) Butane J

(6) Alkenes are prepared from alcohols by a pfor;ess calied: fe bl J;L‘J&J/[/J 4:.)";6 't (Alkenes) /‘) (6)
(A) Dehydration g-"%l’gd 5 (B) Dehydrogenation S W3
(C) Dehydrohalogenation ¢/, |3 (D) Dehalogenation o5k3

(7) The photosynthesis process prodtices: er;.Jf L /‘f!f (7)
(A) Cellulose #&  (B) Starch @b () Glucose ¥ (D) Sucrose M

(8) Nightblindness is because of the deficiency of. ?ﬁ; p)’-’UJEUU » b_n..rLc:'_.giJ d/&f L’y/ (8)
(A) Vitamin A~ &I/t (B) Vitamin D 3/t (C) Vitamin E ig/ts (D) Vitamin C S/t

(9) Just above the earth's surface spnere is: fe /” !/Uf/}fugLﬁi/urQ"J (9)
(A) Thermosphere 2/ (B) Troposphere #%s/  (C) Mesosphere £+ (D) Stratosphere A /

(10) Temporary hardness is because of; f ofcmL/ S Jf/" (10)
(A) MgSO, (B} MgCO, (C) CaCOn (D) Ca (HC O3),

(11) Which one of the following gases is used for kiliing -;_JHJLMJ{{LLLI" '!: FoglSir B (1)

the harmful bacteria in water? h |

(A) Bromine (s (B) lodine Q;':-;"T (C) Chlorine g,j;ry (D) Fluorine ¢/ #*

(12) When NaHCO4 is heated it forms: -;Lmd" bc.Jl?f_.L“W?)? NaHCOy <> (12)
(A) CaO (B) CaCOy (C) CO, (D) Ca(OH),

22(08)( W )-2019(S)-/4 7 (MULTAN)
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'|PAPER CODE 2019 (S) A

NUMBER: 3483 SSC PART-Il (10th CLASS)

CHEMISTRY (NEW SCHEME) ( (‘ £) i
TIME ALLOWED: 15 Minutes OBJECTIVE ﬁ/ﬂ 215 = 2
MAXIMUM MARKS: 12 12= Af

S L/L/xlulv‘u’ﬂrﬁuifwnc_d s fbfa.z”_k,fédly,f/u{ui J’é.r_.: 2 C B A LR JGZ:J"“/' =~
/;/,J*yu'l -fc_lebu'w/(}fﬁnuu‘od.z‘,/ ,J:JJ/'J E‘nr“"bk..ab’wau"u»"p(d./,; Ak 1 ! d_/,/u*/lmbcdd-/ i)
Note: you have four choices for each objective type question as A, B, C and D. The choice ,u‘f J’/;HIJ
which you think is correct, fill that bubble in front of that question number, on bubbie sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 , A Ay

(1) Alkenes are prepared from alcohols by a process called: e lriggijl;“aif-u/'{u/:-?"fﬂ*‘[ (Alkenes) /gf (1)
(A) Dehydration /%% (B) Dehydrogenation /%3
(C) Dehydrohalogenation uﬁ-;fy‘;ml’w ; (D) Dehalogenation /3

(2) The photosynthesis process produces: &b /W'—L)! L/f/” $ @)
(A) Celldlose s  (B) Starch &k (C) Glucose (D) Sucrose i~ /

(3) Nightblindness is because of the deficiency of: "gdfd:t‘mf et a0 S 0
(A)VitaminA Ity (B) Vitamin D 3% (C)Vitamin € ity (D) Vitamin C - 5/t

(4) Just above the earth's surface sphere is: e A ,C, S H:i/ i (4)
(A) Thermosphereny#  (B) Troposphere £%s/  (C) Mésosphere %% (D) Stratosphere Vx3 /

(5) Temporary hardness is becausé of "Ldfcw&f & U// (5)
(A) MgSO, (B) MgCO, (C) CaCo, (D) Ca(HCO;), _

(6) Which one of the following. gasesis-used forkiling -c;-JﬂJ'»’":’U@Lé-/ ! Sz Jo 6

the harmful bacteria in water?

(A) Bromine g (B) lodine ¢/ 3¢ (C) Chlorine ¢/ A (D) Fluorine ¢/ o

(7) When NaHCO, is heated it forms: _LL:'J" wa.u‘u.:.t lM '/f NaHCO; < (7)
(A) CaO (B) CaCO, (C) Co, (D) Ca(Of),

(8) When the value of K- is very large it indicates that: -c:-df/lb-«fmifu“ o Ko o - (8)
(A) Reaction has not gone to completion chJ'/ J; i U"( I
(B) Reaction mixture has negligible products I )*/(.../J' /’( J( Y,
(C) Reaction mixture consists of almost all products :‘.ﬁg J}/L/ /”/6’( W
(D) Reaction mixture has almost all reactants Jlb JJ(VL ;JU, f; UGS

(9) Areverse reaction is one that; -‘mef ags (9)

(A) Which speeds up gradually <2 {42 (B) Which slows down ngradually &b 1.2
(C) In which reactants react to form products ¢ty ;-/if.)/ I8 JJJ‘U

(D) Which proceeds from left to right ‘Lmdl;.,zlgu: l:c_u: ¥4

(10) Acetic acid is used for; -c.brjlﬁ’l Acetic Acid) i (10)
(A) Cleaning metals &-& (o2 (B) Flavoring food &L ét3 5N
(C) Making explosive material %_Z.J..b».gil /.?u( s (D) Etching designs é.ﬁgwb’ug,

(11) Which one of the conjugate acid of HPOZ ? e Ll ST € PO (1)
(A H,Po, B) 11,P0} (©) 1,P0;' O) POy N

(12)  The main component of natural gas is: ‘-"Lbu"‘/ddfl? f W L (12)

(A) Propane (fes (B) Propyne J&:{ (C) Methane VC"’M (D) Butane y-x:
22(0bj)( 3¢ ¥¢)-201 9(5)-/3/70 (MULTAN)
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PAPER CODE 2019 (S) Ay

NUMBER: 3485 SSC PART-ll (10th CLASS)

CHEMISTRY (NEW SCHEME) (A %) gt
TIME ALLOWED: 15 Minutes OBJECTIVE (5. 5= &
MAXIMUM MARKS: 12 12= AF

A b D gl parme b Gl é __t/..uwxjs‘Jw AL D s C B ARl s L2
YEFR UV F:_laL f’//‘/d:rfujﬂfd_,/,u/ J'(,J; ) _for"kl; J?w,s ) y"d/d._/'} Sk ! d./g:():/bul.zcﬂj S
Note you have four choices for each objective type question as A, B, C and D. The choice HJ/ J’J}VU
which you think is correct, fil! that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are noit filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Temporary hardness is because of % ’Efc.mdfu{f‘%jjw{/;} (1)
(A) MgSo, (B) MgCO, (C) CaCo, (D ) Ca (Hw3 )
(2) Which cne of the following gases is used for killing -c;.,dﬁ L»"U‘.f’_z.. bt ( i /:uu .-eﬂ;iy‘undk (2)
the harmful bacteria in water?
(A) Bromine s/ (B) lodine o3¢ C)Chiorine /£ (D) Flucrine ¢/
(3) When NaHCO is heated it forms: cbnfoe S tolpH NaHCO, 2 (3)
(A) CaO (B) CalO, (C) Co, (D) CalOH),
(4) Whenthe value of K is very large it indicates that: ..Ld./fw.d!‘whcﬂ’:’l'iu( Ko o2 (4)
(A) Reaction has not gone to completion iru’“ J f J"( 1y,
(B) Reaction mixture has negligible products & u?r u/| w’uu r( l._;.r
(C) Reagtion mixture cansists of aimost all products u’fmb /’7" u* I
(D) Reaction mixture has almost ail reactants z_.wf J"f RSP0, f’u‘ ;ﬁﬁ:@
(5) Areverse reaction is one that: _‘u;ﬂ e, (5)

(A) Which speeds up gradually < bx wa (B) Which slows dOWﬂ radually < fwo+! % ik,
(C) In which reactants react to form products &b~ »/Lm( AVt J

(D) Which proceeds from left to right c.wdl}... wu' e, Lf’

(6) Acetic acid is used for: -c:,LnuLv"‘l (Acetic Acid) 4<! Ly {6)
(A) Cleaning metals <& (/4" (B) Flavoring food Azia..mwﬁ;.f ¥
(C) Making explosive material Kj_c:#:.[::?'j.’:;é/’v”) (D) Etching designs &L&.L ;ﬁsf

(7). Which one of the conjugate acid of HPOZ 7 ‘e b LLEE PO (7)
(A) H,PO, (B} H,PO; (C) H,PO;' Oy PO B

(8) The main component of natural gas is: °¢J=(L5’uf b Ku{ we (8)
(A) Propane /sy (B) Propyne JL,»; (C) Methane _,Lf (D) Butane R |

(9) Alkenes are prepare;j from alcohols by a pfocess called: ;_L“lPL,GL—J{.V U r—_}’ﬁ iy (Alkenes) ; /‘ (9)
(A) Dehydration 7%, 3 (B) Denhydrogenation ¢, |
(C) Dehydrohalogenation ¢/, 1S3 (D) Dehalogenation >k}

(10) The photosynthesis process produces: - brlice J’f o /@W}:’ (10)
(A) Cellulose bk (B) Starch & (C) Glucose W (D) Sucrose ;:f

(11) Nightblindness is because of the deficiency of: ?ﬁtwaﬁdzkjug A w—._xo/*f JJ L’au/ (1)
(A) VitaminA < l/ts (B) Vitamin D 3/ (C)VitaminE (It (D) Vitamin C 5%

(12) Just above the earth's surface sphere is; Y‘c"_/‘;‘i’w:@slﬂgiaﬁd (12)

(A) Thermosphere #%#  (B) Troposphere #0s? (C)Mesosphere £%% (D) Stratosphere #%

22(0bj)( W 3 I 1-201 9(S);/%/ 7 (MULTAN)
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'[PAPER CODE 2019 (S) ey

NUMBER: 3487 SSC PART-lI (10th CLASS)

CHEMISTRY (NEW SCHEME) (A %) gt
TIME ALLOWED: 15 Minutes OBJECTIVE u%/w 15 = &
MAXIMUM MARKS: 12 2= AF

A o\ S 323l R e u;/l;cfc;.:c‘_l.rc’:blfr//dw _ufcfa.a D.siCB:A HLF.J?;L?LJ[V; oy
/,J/,JI""J Fc_vLJp//Jqu‘._«J}“Jd_)yf S _g}";r""}:léu')’u);{, J‘JJJ_—JJ/ /(h-‘ b .)._,/J;,J\_)MU»LJ.:_.J Z.
Note: you have four choices for each objective type question as A, B, C and D. The choice -u/.,d");_,mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A 4y

(1) Acetic acid is used for: -c.ﬁ'ndb;" Acetic Acid) A (1)
(A) Cleaning metals &£ (e (B) Flavoring food iia,wl;u?f_, 0%
(C) Making explosive material << k17 les (D) Etching designs iz:a_,bzﬁju/

(2) Which one of the conjugate acid of HPO?" ? Vs LiALSEE § HPOY ()
(A) H,PO, (B) H,POF () #,P0} ©) PO ..

(3) The main component of natural gas is: ?ﬁ:—u”ﬂu’uﬁ’-'(‘”(u"‘fdfj (3)
(A)Propane fs;  (B)Propyne sy (C)Methane (° (D) Butane oy

(4) Alkenes are prepared from alcohols by a pfocess called: ?‘Lv@yﬁgdzim{vé_kﬂ/ (Alkenes) /Uf (4)
(A) Dehydrationgréss| (B) Dehydrodenation ¢*%%,%'13
(C) Dehydrohalogenation y#¥3il s (D) Dehalogenation %3

(5) The photosynthesis process produces: ~cbrlige J{J./. /“’j‘:’ (5)
(A) Cellulose 5 . (B) Starch'p& )idtose ¥ o (D) Sicraselh”|

(6) Nightblindness is because of the deficiency of e el #U:JL-’—»?JJL( Ssu 6
(A)VitaminA < I/% (B)Vitamin D 3ty (C)VitaminE ity (D) Vitamin C 5/

(7) Just above the earth's surface sphere is: e # Wﬁﬁ'tﬁ Lf-i/d/u' i ()
(A) Thermosphere /"r/ (B) Troposphere /’f"gsf (C) Mesosphere  #%% (D) Stratosphere /‘Vr 4

(8) Temporary hardness is because of LJ:’C-»:UJ@”»W/ (8)
(A) MgSO, (B) MgCO, (C) CaCO, (D) Ca(HCOs), '

(9) Which one of the following gases is used for killing it L}:fuit"p’uf{éj—ﬁi-/ A Hhdiny VO (9)

the harmful bacteria in water?

(A) Bromine s (B) lodine ¢3¢ T (C) Chlorine JJ){ (D) Fluorine ¢/ P

(10) When NaFCO is heated it forms: e tr e e tPH NatCOy 2 (10)
(A) CaO (B) CaCO, (C) Co, (D) Ca(OH),

(11) When the value of K. is very large it indicates that: 4aU/f@~)‘mhwﬂ.l~tJ Kewr (1)
(A) Reaction has not gone to completion aifunJ'( Uﬁ/j(f( I
(B) Reaction mixture has negligible products u;;im" ;mf../u" /‘( J”( 15

(C) Reaction mixture consists of almost all products u“fv/ v /‘7 V) "’JJ
(D) Reaction mixture has almost all reactants J’d.lo’ L fpfd;ful,/ﬂu"/fu{idx
(12) Areverse reaction is one that: | m,ui{ S (12)
(A) Which speeds up gradually < bw 7 Gz (B) Wh|ch slows down jradually a:r;wf@}f
(C) In which reactants react to form products ¢/ a.w‘ i1 ;.)J 9, u)u‘ J
(D) Which proceeds from left to right g,t'y(’jb.,fw: ~c.Lf |2

22(08)( R Y0)2019(8)-/ /o (MULTAN)
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